Isotopie

[image: image1.png]O Chlor 171 (75,40%) | 17 Cl (24.60%)
Massenzahl 35 37
Protonen 17 17
Neutronen 18 20
nat. Vorkommen | 75,40% 24,60%

rel. Afommasse | 0,7540-35+0,2460-37 = 35,49 |

28U (0,718%)

2 Isotope:
leiche chemische
igenschaften

(Protonen)

untersch. Masse

(Neutronen)

#8U (99,276%)

Uran %4 U (0,0056%)
Massenzahl 234 235 238
Protonen 92 92 92
Neutronen 142 143 146
nat. Vorkommen|  0,0056% 0,718% 99,276%

rel. Atommasse

0,000056-234+0,00718:235+0,99276-238 = 237,98 |





